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General Instructions :

(i)  The question paper comprises two Sections, A and B. You are
to attempt both the sections.

(ii)  All questions are compulsory.

(iii)  There is no choice in any of the questions.

(iv)  All questions of Section A and all questions of Section B are to
be attempted separately.

(v)  Question numbers 1 to 3 in Section A are one mark questions.
These are to be answered in one word or in one sentence.

(vi)  Question numbers 4 to 6 in Section A are two marks questions.
These are to be answered in about 30 words each.

(vii) Question numbers 7 to 18 in Section A are three marks
questions. These are to be answered in about 50 words
each.

(viii) Question numbers 19 to 24 in Section A are five marks
questions. These are to be answered in about 70 words each.

(ix)  Question numbers 25 to 33 in Section B are multiple choice
questions based on practical skills. Each question is a
one-mark question. You are to select one most appropriate
response out of the four provided to you.

(x)  Question numbers 34 to 36 in section B are two-marks
questions based on practical skills. These are to be answered
in brief.
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1.

T -—-A
Section-A

e few T ANfient o 9 fafau . 1

|
(2) CH,—CH,-OH; (b) CH,~C=0

Name the following compounds :
H

|
(a) CH,-CH,-OH; (b) CH,~C=0

DNA T8 ? 1

What is DNA?

forelt Sfia #ued o a1 519 3TaFdl i Fet SR | 1

List two biotic components of a biosphere.

SIS ThTRT TohtuT fohel 3T UUT TR 3TR@ H I, STTIR SAT9a i ¢ |
T NG I 0T IR Ifeeht W Wiat U0 § Taad & 99aTd

orToT AT AT S9M13U | STRG W SATIAH hivT T Ueidd shiol | 37fehd

FhifsTe | 2
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A ray of light is incident on a convex mirror as shown. Redraw the
diagram and complete the path of this ray after reflection from the

mirror. Mark angle of incidence and angle of reflection on it.

(

£

PE« F C
5. Tordlt v8 yemwr Y Ieew Gfed =men fifse e o dn o+

Gfsha A 8 99 &1 Y94 Bollcdash o] | 2

Explain giving example where active involvement of local people

lead to efficient management of forest.

6. Torel 3@ YR @ FEIfcld SIA-9WR JoRed o R Tl Rl g

ERIEW 2

List four advantages of properly managed watershed management.

7. UG (ATaIehTaR) T BIAT € 7 1 TIAT & el [ohell 3T=Th ol

T | e s 2 7 gaEfaes gHienor ) 9gdr 9 SIel

FhifsT | 3

What is an oxidising agent? What happens when an oxidising
agent is added to propanol? Explain with the help of a chemical

equation.
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8. weudASt A 1 &7 A AT AR | " = B E 7 Sk o
Torery T[oTt <t Y ST | 3

What are covalent compounds? Why are they different from ionic

compounds? List their three characteristic properties.

9. @I dd ‘M’ o soae fo=ma (2, 8, 2) ®, JUs% &9 U g
(NO,)",(SO,)*” @ (PO,)*” o @I HANT AT & | 38 THR o A
ifreni o g fafaw | 9@ ‘M’ Ty Ted areft o fohg g 3R
AEd | ot 77 M’ wegast Afie s stgen el Afies
FETE ? ST I Sl FHROT Afed giE A | 3

An element ‘M’ with electronic configuration (2, 8, 2) combines
separately with (NO,)",(SO 4)2_ and (PO 4)3_ radicals. Write the
formula of the three compounds so formed. To which group and
period of the Modern Periodic Table does the elements ‘M’

belong? Will ‘M’ form covalent or ionic compounds? Give reason

to justify your answer.

10. Ue T & FoReel a1 acdl & T S Ik SolagH-fomm fafaw | &7
S - =Imal T 3Tkl R GHMHT fo@Ts <t 8 7 39 dcal o O fopet
T Tcd oh SATFETES o G faaRan | 3
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Name any two elements of group one and write their electronic
configurations. What similarity do you observe in their electronic
configurations? Write the formula of oxide of any of the aforesaid

element.

11. AHE T - | 07 o 91 1 © ¢ JI9T 3G T[ET o STeL IOl el §
F1 ferd Bid 87 Ao & 9HY bl i feEmee d giEdT dF &

foTu hi9 STER 2 7 3

What are the functions of testis in the human male reproductive
system? Why are these located outside the abdominal cavity? Who
is responsible for bringing about changes in appearance seen in

boys at the time of puberty?

12. AFa SHEE & Eka &, SR 3w o @ it vgfe & g
AEwE 2, il HE b T Oy ol game ) y@w fafa % qm

fergT=d &1 Ioci@ hifsTu | 3

Suggest three contraceptive methods to control the size of human
population which is essential for the health and prosperity of a

country. State the basic principle involved in each.
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13. wg-Tomued 7 2 7 Sfiai # 97 fore Yohr gian & ¢ Har | e i |
foret wer Sfia st 9 feifigu S 59 WehR & S Rl Swiian ® | 3

What is multiple fission? How does it occur in an organism?
Explain briefly. Name one organism which exhibits this type of

reproduction.

14, ““A&I0T YTEt 3TET ITUNTE Bd 7 | HeSA 7 39 qeF hl €M & 1w
379 gioTHT <1 Sfdured forg Tenr foram ? Gaig § 39T dife | 3

How did Mendel interpret his result to show that traits may be

dominant or recessive? Describe briefly.

15. 3UTRId A&I0N TR SR A&V ok S i fIwaehil Aegon sl gt
TfeTeRT o &9 | ST | 3

List three distinguishing features, in tabular form, between

acquired traits and the inherited traits.

16. TERTST o WehlU § oI ATcqd & ¢ AR qT AT o THI SATeRTT Tt
TR T TS TTd BT © | $9 ITEIeTeAl shi S0l |fed ST i | 3

What is meant by scattering of light? The sky appears blue and the
sun appears reddish at sunrise and sunset. Explain these

phenomena with reason.

31/1/2 8

Downl oaded From : http://cbseportal.conl Courtesy : CBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl

17. = o o 3@ =i, oo 1ader /39 gl W whig TRt fohor AT
LA SMRA TR 7, AT IW Yfecent W T | e TRt | g9 foRm

T U0 § YA o Y9I ohT 9f ST18U | 3

~ Yy L
"

Draw the following diagram, in which a ray of light is incident on a
concave/convex mirror, on your answer sheet. Show the path of

this ray, after reflection, in each case.

18. fFrAfetfiaa it gfy % forw Hror difs:

(a) Tordlt oft Sia-mvee # STuseehl / STurTSIent shi IJUTEATd TR © |

(e aN

(b) TRl RN T@T § Jrsli-TaTE TSI BT © | 3

Give reason to justify the following :
(a) The existence of decomposers is essential in a biosphere.

(b) Flow of energy in a food chain is unidirectional.

31/1/2 9 [P.T.O.
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19. (a) T HIGT S 0 o 1= U T yedeh symt ot o6 feafia -

(1) AvSEE

(i) HAwRE I

(i) ToiE™

(b) =T Sl TLEAT 3 FE o JUI IS | 5

(a) Write the functions of the following parts in human female

reproductive system :
(i) Ovary
(i1)) Oviduct
(i11)) Uterus

(b) Describe the structure and function of placenta.

20. S 3g9eH ¥ FA1 dATeqd ® ¢ ST 3g9e o 7T ITERt IR iRt sht
Tt TR S W N WO SRS o QUi oh STd 39 h
T R T 2 HehdlT ¢ 379 3T hl SHR0T \fea gy shifor | 5

What is meant by speciation? List four factors that could lead to
speciation. Which of these cannot be a major factor in the
speciation of a self-pollinating plant species. Give reason to justify

your anSwer.
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21. (a) U BTEGIERIEHT SR STFT STZGIhTeT o sl fawa T o folg
g T TRIegor T |
(b) T % a1 H T84 B W F4 Il 3cdTat ok 19 foafae | 29 At
srfufsran =1 Tamafaes Tt faftae ok fomfea 2 aret fafa
YehTL hl FHeliatl ohl S91SU |

(c) T & vy I Iufeafa § A9 1 FAS o Wiy Afafsmn =+
wfceemas srfyfsran ol g ST @ ? 5

(a) Give a chemical test to distinguish between saturated and

unsaturated hydrocarbon.

(b) Name the products formed when ethane burns in air. Write the
balanced chemical equation for the reaction showing the types

of energies liberated.

(c) Why is reaction between methane and chlorine in the presence

of sunlight considered a substitution reaction?

22. (a) Tt otader <@ g1 3O g W TRt forar o1 wfafers s

T o ToTq forom aTrt@ Eiifom |

(b) IWIk 3@ H forar-, wlafens g ol 3ok 3fwa 7 (75 e
g dftarel & STgUR ST (+) 12T SRV (—) ) |fed quTisy
3R Ieei@ SAISTT Tor 39 ool ® 3 gt s1aae ol ohl iR gl
() & Tore wohR Taifera €
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(c) 3T o <l Yehfd IR &FmaT 1 ShIfSIT, S TI4 YISk s
40 cm g R fera foreht ot a1 1 e1mad o1 wfcifors sAman 2 | 5

(a) Draw a ray diagram to show the formation of image by a

concave lens when an object is placed in front of it.

(b) In the above diagram mark the object-distance (u#) and the
image-distance (v) with their proper signs (+ve or —ve as per the
new Cartesian sign convention) and state how these distances

are related to the focal length (f) of the concave lens in this case.

(c) Find the nature and power of a lens which forms a real and
inverted image of magnification —1 at a distance of 40 cm from

its optical centre.

23. (a) A Ul o Hewl # = fou TTu ve sht uftamn forfaw :

i g

(i)  Thdl g

(i) T=T &

(iv) T&I ®ihd

(b) = fow T gdurt % g wreRE g % fore fertor e Eife -

(i) FId gUur

(i) 3T g0
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(c) = fou U 3@ W fomm Hifste | 30 M 18 gdur ® qen P g
forrar 2, fSreRT gdur gry s strafia gfafsrar Q 2 |

U M o Yo ol 3@ Shifsy, 3TR Yfdfenar Q a1 shig Ueh fafse
o7 feafa | 5

(a) Define the following terms in the context of spherical

Mmirrors :

(1) Pole

(i1)) Centre of curvature
(i11) Principal axis

(iv) Principal focus

(b) Draw ray diagrams to show the principal focus of a

(i) Concave mirror

(i1)) Convex mirror

31/1/2 13 [P.T.O.
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24. (a)

(b)
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Consider the following diagram in which M is a mirror and
P is an object and Q is its magnified image formed by the

mirror.

State the type of the mirror M and one characteristic property of

the image Q.

AL 93 o A1 U 7U g es Wt o1 i fafau
gt afeaiient, feeefi oia, vemnsft i

TR & foerrasiict 230 o Al Saih hiHar-37adr § difed 8 1 5

IR Bl e R AT ST o TeaoT /I g/ dteh
foRaIT STT TohaT 2 | 379k &L oh Tt JUTeRTd THTST 3 37T TSiY
T 3H) 929 & IR H SI&hdl 39 Hd & 32T 9 Teh ITIH
IS TR 2 | 9fe omad gm Sfed-agw ° 9 9 % foe ke
SITT, 1 3719 39 o il H fohe Jehm e ot ?

(i) 39 YR o AT ! SRS L 1 33 forfay |

(i) T o ITATA I A1 ol T A o T¢I L G0 119

TN 3hT ST Tqeh ol ¢ UH QT IRl ahl Gt SMTST |
(iii) 3 Q1 gt 6t g S8, S 39 AfwA § foshfd & 9 2,

S 9 TohI ok AT H W Aokt Yishd NS ad & | 5
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(a) Write the function of each of the following parts of human eye :

cornea; iris; crystalline lens; ciliary muscles

(b) Millions of people of the developing countries of world are
suffering from corneal blindness. These persons can be cured
by replacing the defective cornea with the cornea of a donated
eye. A charitable society of your city has organised a campaign
in your neighbourhood in order to create awareness about this
fact. If you are asked to participate in this mission how would

you contribute in this noble cause?
(i)  State the objective of organising such campaigns.

(i1) List two arguments which you would give to motivate the

people to donate their eyes after death.

(i11) List two values which are developed in the persons who

actively participate and contribute in such programme.

HT-d
Section-B
25. TrAfafad 4 @ =k 9usd o7 1 ag= © 7 1

(a) Hash, uaft 3T fushelt o 3mUTEe

(b) FFeT o Tk R ATHATAIT o Feh
(c) =TEE & I R fadef & v

(d) vl % T@ 3R THIEE & UG
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26.

Which of the following is a correct set of homologous

organs?

(a) Forelimbs of frog, bird and lizard

(b) Spine of cactus and thorn of bougainvillea
(c) Wings of bat and wings of butterfly

(d) Wings of a bird and wings of a bat

forett 1= =l ““Torelt Taefisostt st o yor o fafsm Wt <t ve=m e
SR o1 AT @ | SitSiT oh =<l U 710 |l | § IwYh g - :

(a) W, =, T

(b) TSHI, HFhl, =T

(c) TR, IS, TSI

(d) USHI, HX, <1

A student has to perform the experiment “To identify the different
parts of an embryo of a dicot seed.” Select from the following an

appropriate group of seeds :

(a) pea, gram, wheat

(b) red kidney bean, maize, gram
(c) maize, wheat, red kidney bean

(d) red kidney bean, pea, gram

31/1/2 16
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27. = fou U e remeE i faw foredt o= 3 STads i (L),
JAYGAT I (Lr), TG BT (Le), =0 @101 (LA) q fome™ s
(£D) Afeha foru 2 | 3o Tt Sifeha T = : 1

(a) LAd L

(b) ZA,Zid ZLr

(c) LA, Zi, Ze 9 4D

(d) ZA, Zi, Zr 9 ZD

Study the following figure in which a student has marked the angle

of incidence (Zi), angle of refraction (£r), angle of emergence

(ZLe), angle of prism (£LA) and the angle of deviation (£D). The
correctly marked angles are :

(a) ZAand Zi
(b) ZA, Ziand Zr
(c) ZLA, Zi, Ze and ZD

(d) LA, Zi, Zr and £D
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28. ToREt STFATRR A o Wid ¥ TSR aTel YehmT TohoT o1 99 STRRET
FH o foru, Fiar & mft S Hi arnfies sgewen gai g 7

N

|

T

P

(@) P
(b) Q
(c) R
d S

R

Select from the following the best experimental set-up for tracing

the path of a ray of light passing through a rectangular glass slab :

N

p

~

P
(a) P

(b) Q
(c) R
(d) S

31/1/2
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29. Torelt B 9 JARRNE BN % g TR W @l Wi il Sare
T AIdd U AT ST &0 Yidafers foret o8 W, 3Et S99 o
# wipd g I FA & faw, g foman | e meieg 3 3@ s
T HIRd gl o1 3R 3T TE A ITed i oh ToTT SRITSTeT & S
1 km @ o fRedt waa o1 ®hid & &1 gema foam | 3 o
T 3H TEY YA hl BIRGA B b [T IWh AT AT TAFTANRG
AT A : 1
(a) TUUHI UG H T
(b) TG HI YT H K
(c) U< ol UUT St AR
(d) U< ol 9ad i AR

A student obtained a sharp image of a candle flame placed at the
distant end of the laboratory table on a screen using a concave
mirror to determine its focal length. The teacher suggested him to
focus a distant building about 1 km far from the laboratory, for
getting more correct value of the focal length. In order to focus the
distant building on the same screen the student should slightly

move the :

(a) mirror away from the screen
(b) screen away from the mirror
(c) screen towards the mirror

(d) screen towards the building

31/1/2 19 [P.T.O.
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30. f3U U 3T ¥ A Alerehe Biohd g, Tl g fod (S, IS 913

TIE) ol BIehiHd Hlh, JTd A & o1 31 39 foreat o1 Ufafens o€ @

T T Rl JITE Hd 2 | Ie T o1 Sfdfers geg S arar e : 1

(a) ®enm R urvd witafda
(b) T R Brer
(c) 32 IR BI
(d) T, I AR B

To determine the approximate focal length of the given convex lens
by focussing a distant object (say, a sign board), you try to focus
the image of the object on a screen. The image you obtain on the
screen is always :

(a) erect and laterally inverted

(b) erect and diminished

(c¢) inverted and diminished

(d) virtual, inverted and diminished

31. i3 B 25 mL 9TiEr &t IR WeHlr™r P, Q, R 3R S Wt T
T § 10 mL ST ST ¥Rl § | 98 39 WAl § 9 e d@gon
1 Ueh-Tsh IHA< 39 JahR fiarrar @ — P # KCI; Q # NaCl; R d CaCl,

AT S H MgCl, | TeavTd, a8 Yedeh TE-e H HIgH o Toera o T
T 2 mL ST © | T W@ o qaTei i Well-witd feed |

34 51 @Al § T 917 e ot 9F9madT 7, 3 Wl & - 1
(a) P3MQ (b) RS
(c) P,Q3R R (d) P,Q3W S

31/1/2 20
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(@) Pand Q (b) RandS
(c) P,QandR (d) P,QandS
32. = fou U weel & fRE Ogee @1 IWM WEH AW % forg
ATTeRToT— TSR ohl Rt ok ToTq fohar ST dehaT @ 7 1
(a) Ca(OH), ¥R | =1 0
(b) NaOH 2w &1 ddt
(c) NaOH 3R @f< da
(d) Ca(OH), R @ ae
Which of the following sets of materials can be used for conducting
a saponification reaction for the preparation of soap?
(a) Ca(OH), and neem oil
(b) NaOH and neem oil
(c) NaOH and mineral oil
(d) Ca(OH), and mineral oil
31/1/2 21 [P.T.O.
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A student takes four test tubes marked P, Q, R and S of 25 mL
capacity and fill 10 mL of distilled water in each. He dissolves one
spoon full of four different salts in each as — KCI in P, NaCl in Q,
CaCl; in R and MgCl, in S. He then adds about 2 mL of a sample
of soap solution to each of the above test tubes. On shaking the
contents of each of the test tubes, he is likely to observe a good

amount of lather (foam) in the test tubes marked :

CBSE
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33. wreHATRT iR o fow ® il €t 18 fewaforn w fomm ifste - 1

[ 39 Affsransti § o1 3cas Bidl @

I 9 o g s@emu & fofe Afafsan fism & wifeam aeimase
[ERIRISIGIE

I Grtertor stfirfsran weh o yerm 3t Sarefiientor stfifsran 2

IV g vl 5@l o a1 3TFl o1 & e ©

T Ot fewfrt & -

() LTI

(b) ILIIFIV
(¢c) LUIIV
(d) FIALIMRIV

Consider the following comments about saponification reactions :
I Heat is evolved in these reactions

I  For quick precipitation of soap sodium chloride is added to the

reaction mixture

IIT Saponification reactions are special kind of neutralisation

reactions
IV Soaps are basic salts of long chain fatty acids

The correct comments are :
(a) I, ITand III

(b) II, III and IV

(c) LLITand IV

(d) OnlyIandIV
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A student focuses the image of a well illuminated distant object on

a screen using a convex lens. After that he gradually moves the
object towards the lens and each time focuses its image on the

screen by adjusting the lens.

(1) In which direction-towards the screen or away from the screen,

does he move the lens?

(i) What happens to the size of the image-does it decrease or

increase?

(i11)) What happens to the image on the screen when he moves the

object very close to the lens?

35. 39 GHI 3T A1 Y& Fd § S A THIRF e H FO I8 39
e § e & foad s R 2
() TraTerafem
(ii) AT SiA
(iii) HEE o
(iv) HifeTd TESISH e ol
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What do you observe when you drop a few drops of acetic acid to a

test tube containing :
(1) phenolphthalein
(i) distilled water
(i11) universal indicator

(iv) sodium hydrogen carbonate powder

36. 3THie o fg@ved o 36 foRIY =x07 1 ATWIfRd @ S Sew 3eeh
hr5eh AHIhd B ST @ SR IHeh! ShITTeRT fofoat! H HehiviA =R
BA1E | 2

Draw a labelled diagram to show that particular stage of binary

fission in amoeba in which its nucleus elongates and divide into

two and a constriction appears in its cell membrane.
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